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The accompanying tables are based on Ekman's (1908) data on the

compressibility of sea-water and on Cox and Smith's (1959) values for

the specific heat of sea-water at atmospheric pressure.

The function listed is T-9for values of T, S, p, where

T

8

S

D

is

is

is

is

the temperature in situ in °C,

the potential temperature in °C.

the salinity in ¢, .

the pressure in decibars,

The numerical computation follows essentiszlly the procedure of Fofonoff

and Froese (1958) and their values for pressure effect on specific heat

are used.

The tables cover three separate ranges:

Table 1. p 0(100)500 S

p 600(100)1,000 S

Table 2. p 1,000(500)3%,000 8

P 3,500(500)10,000 8

Table 3. p 1,000(500)4,500 8
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TABLE 1 _ (CONTINUED)

S = %2 5 =34 8 =36 5 =3
0.01 0,01 0.01 0.01
0.01 0.01 0,02 0,02
0,02 0.02 0,02 0.02
0.03 0.03 0.03 0.03
0.03 0,03 0.0k 0,04
0.0k 0.0k 0,04 0.0k
0.05 0.05 0.05 0,05
0.05 0.05 0.05 0.05
0,06 0,06 0,06 0.06
0.06 0.06 0.06 0.07
0.07 0,07 0.07 0,07
0.07 0.07 0.07 0.08
0.08 0.08 0.08 0.08
0.08 0.08 0.08 0,09
0.09 0.09 0.09 0,09
0.09 0,09 0.10 0,0
0.10 0a10 0.10 0.10
0.01 0,07 0,01 0.01
0.02 0,02 0,02 0,02
0.03 0.03 0.03 0,03
0,03 0.0k 0.0 0.0k
0.0k 0.0k 0.05 0.05
0.05 0.05 0,05 0.05
0.06 0,06 0.06 0.06
0.06 0.07 0.07 0,07
0.07 0.07 0.07 0.07
0,08 0.08 0,08 0.08
0.08 0.09 0.09 0.09
0.09 0.09 0,09 .09
0510 0410 0.10 0.10
0.10 0511 0.11 0ot
0,11 0.1 0.11 0.11
0.12 0.12 0.12 0.12
0.12 0.12 0.13 0413
0,01 0.01 0.01 0.02
0.02 0.02 0.03 0.03
0.03 0.03 0.0k 0.0k
0.0k 0.0k 0.05 0.05
0.05 0.05 0.05 0.06
0.06 0.06 0.06 0.07
0.07 0.07 0.07 0.07
0.08 0,08 0.08 0.08
0.09 0.09 0,09 0.09
0.09 0.10 0.10 0.10
0,10 0,10 0.10 0,11
0,11 0,14 0.71 0.1
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p = 700
T 8 = 30
-2 0.01
0 0.02
2 0.03
L 0.05
6 0.06
8 0.07
10 0.08
12 0.09
14 0.10
16 0.114
18 0.12
20 0.13
P = BOO
-2 0.04
0 0.03
2 0,04
L 0.05
6 0.07
8 0.08
10 0.09
12 0.0
i 0.1
16 0.12
16 0.13
20 0.15
p = 900
~2 0.01
0 0.03
2 0,05
i 0,06
6 0.08
8 0.09
10 0.1
12 0,12
14 0.13
16 041l
18 0.15
20 0.16
p = 1,000
-2 0,02
0 0.C
2 0.05
b 0.07
6 0.08
8 0.10
10 0,11
12 013
1 0.16
18 0.17
20 C.18

TABLE 1  (CONTINUED)

S =32 8 =3 8=3 §=38
0,01 0,01 0,02 0,02
0.02 0.03 0.03 0.03
0. 0L 0.04 0,04 0.0k
0.05 0,05 0.05 0,06
0.06 0,06 0.06 0.07
0.07 0,07 0.07 0,08
0.08 0,08 0.08 0.09
0.09 0.09 0,09 0.10
0,10 0.10 0.10 0.11
0,11 0,11 0.1 0.1
0,12 0,12 0.12 0,12
0.13 0.3 0,13 0.13
0.01 0,02 0.02 0.02
0.03 0.03% 0,03 0, Ok
0.0k 0.05 0,05 0.05
0.06 0.06 0,056 0.06
0.07 0.07 0.07 0.08
0.08 0.08 0,09 0.09
0.09 0.10 0,10 0.10
0.10 0.71 0.11 0.11
0.12 0,12 0.12 0.12
0.13 0.13 0.13 0.13
0u1 ks 0.14 0,14 01
0.15 0.15 0.15 0.15
0.02 0,02 0,02 0,03
0,03 0,40k 0,04 0.0k
0.05 0,05 0.06 0,06
0,06 0.07 0.07 0,07
0,08 0.08 0,0 0.09
0.09 0,09 0u10 0,10
0,10 0,11 0.1 0ot
0,12 0,12 0.12 0.12
0413 0.13 0.13 Outh
Oc’“«l» 0;14 0»15 O¢15
0.15 0,16 0,16 0.16
0.17 0.17 0.17 0,17
0.02 0,02 0,03 0.0
0.0k 0.0k 0.05 0.05
0,06 0,06 0.06 0.07
0,07 0,08 0,08 0,08
0,09 0.09 0.09 0.10
0,10 0.11 0,11 0.1
0.12 0.12 0,12 0.13
0.13 0.13 0,14 0.1
0.1k 0.15 0s15 0.15
0.16 0.16 0.16 0.17
0,17 0.17 0,18 0.18
0.18 0.19 0.19 0.19
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TABLE 2 (Continued)

N

P o= 8,500
S=34 S =3 8 =36 T S =34 S =35 8= 36
Oali'6 Oez-(:z On2§~8 "‘2 0972 0.72}— O¢75
0.55 0.56 0.57 0 0.8L 0.85 0.86
0.65 0,66 0.66 2 0.95 0.96 0.97
0.73% 0.74 0.75 L 1,05 1.07 1,08
r = 9,000
0.52 0.53 0.54 -2 0.80 0.8 0.82
0.62 0.6% 0.6 0 0.92 0.93 0.94
0.72 0.7% 0.7k 2 1,03 1.0k 1,06
0,81 0,82 0.83 I 1.1k 1.15 1.16
p = 9,500
0.58 0.60 0,61 -2 0,87 0,89 0.90
0,69 0.70 0.7 0 1.00 1.01 1.03
0.79 0.80 0.81 2 1,42 1.13 Tt
0.89 0.90 0,91 b 1.2% 1.24 1.25
p = 10,000
0.65 0,66 0.68 -2 0.95 0.97 0.98
0.76 0,76 0.79 0 1,06 1.10 L
0.87 0.88 0.89 2 1,20 1.22 1.23
0.97 0,98 0.99 h 1.32 1.3% 1.35



TABLE 3

e ST

T 5 =3 8 =38 8 =40 T S =36 S =38 8 =40
10 0.12 0.13 0,13 10 0.33 0434 0434
15 0.16 0.16 0.16 15 0.4 0.4 0.42
20 0,19 0.19 0,19 20 0.48 0.49 0,49
p=1,500 p = 3,000
T S=3 8S=233 8 =140 T S =3 S =238 8 =.0
10 0.19 0.19 0.20 10 0.0 0.4 0.42
15 0.2k 0.2 0.25 15 0.5 0.50 0. 51
20 0.28 0,29 0.29 20 0.58 0.59 0.60
p = 2,000 p = 3,500
T S =3 8=238 8 =40 T S =3 S=38 8 =140
10 0.26 0,26 0,27 10 0.48 0.49 0.50
15 0.32 0.3% 0.33 15 0.58 0.59 0.60
20 0.38 0.3%9 0.39 20 0.68 0.69 0.70

p = 4,000

T S = 36 8 = 38 5 = ZFO

10 0.56 0.57 0.58

15 0.67 0,68 0.69

20 .79 0.79 0.80






